B P P :

= té: ' @ Intraocular pressure (in ra:nHg). foif ajsample of elderly patients were recorded

fﬂg '} — " as follows: s : | ‘ ' ,

oy (o % &l & 4 A 7
% A5.2 161 + 7.3 14.5 13.6 7Y 134 148

(D a. Q{:‘Jlétetm’r&ledia:l o

Mo, Caiculate the mear:

. L L - T T
o . ‘Whatis therange?
. 4:1.r$'2<6 ..'..n{ ‘. 7%[: .h - . g




S T esesyapus,uisease of your chojge,

:I: ) — y . i | . = ' |
!!: -Section [I'LONG ANSW]S‘_I}QUES'.F]_QNS. (Answer BOTH Questions in this section)

‘\"J/Resu]t's froma survey.involii g the 1ufritional status of the yo_unge:st ch ild and

mother’'s occupationwere s'n unarid e iis below:

TR

g
il E _ .
! - : ; ! B - o [ﬁ utritional status - youngest-child
‘ B Uiderngufished Fair
F)ccupaﬁon of [ Skilled Z) . e
! ; :_mother : ’ Non-skijlled .E_l_“ 20
5 A :

'Use a test of hypothesis to detrmingd w hether there is any association between
“the hutrition status and occupition 4f the mother
.~ Note X2.45 (z) =5.991 : . W e o
‘:*"— : A . 1 ﬂ“(}:;‘}i}







\ c¢) Calculate the standard error of the mean

\ d) Construct a 95% confidence interval for the mean sugar level in the popul
which this random sample was drawn,

Note: [.qum}=2.0360 f.97”|g}"‘-'2.0930 l.g15[13]=2.1009 f.g;j(];n):Z.]UgE

4 Los (o) = 1.7247 l-HHF] =1.728] f.”{m =1,7341 Lg””, =1.7396

ation from
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[ Section I,aSHDRTANSWFR QUESTJDNS fq;;! e e o
I k : P S

k ! L R A 'JE_',_‘J"!":" ;4 __\'r
i N 1/ Ina hospual Lasnd survey on road yafetyq . of a 1andom samph, 225
' a7 incidents of road traffic crasnes mrr_la_;gmfg.; |§ng was {ounr’ Lo ha Ve

i i ashes. 3 |Fat O
r ). ¢ :ntributed to 45 of the crashes. 31| L g +5 N &
[,"F_ N “Vhat is the proportion cf C['c e ‘c'wgr-speedmg asa 2 xte E;._,ae-ﬁ
) contributing factor? i T Q25 =

3’-It_- ) -
, P H tF[G\(PCI . Write down a 95% confident _

f 5 QP:EI B ff”hﬁ o.e',}traffc crashes with: houschol_&;: _ | ;
i | == Y-20F " factor in ‘he population me | ;
F02 L Q6 il Ly : S A s
' P erd Note: the. mmPh“g varignee df d prop ftxon'rsgwar by TT:;. Q -.“:z;é“—’-’-?"-fz’ii?‘":
p(i- Bl - T el L & A

Hriaflu onTlins Fhe Fala amd ke T
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QcC
m ﬂample of 5
‘\j A community diagngsis in F('mmbu involving a cluster rando

s 0Or tOLLLLS. .
PR ./ ha-:;cnofds.found 450 ¢l the househclds_had VIP latrine
_’,“},’J'J-'N:zl_ﬁ‘;':z f‘-)ff e A,

4 .JI
What ix the proporiic 1 of f households with no or poor quality toli:
facilities?

™ b, Write down a 95%,

wcnfi dence interval for the proportion of househoids
/ with no toilet facilities in this population -
) B

95 T+ 2D~ Se
§ “c”y C[E‘:Cl.[hf-' fiva ren o O
Lt
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JAeSLALA SLAA N ALA £XV EY AL QULD L LVIND, ([JUESTION 1 and £ a
T 7 . B e 1

\1// e _ - A . | v
4. Outefasample o a0 omen al:tt?ﬁﬁnl':.:\Nf: who were tested

re compulsory)

! . : ¢ - iﬂi.dl_‘v"_Jn
N : County;gﬁ 45 of them were found pffsitivi .-
\\ a. Whatis the preyalence of HIM in thie'sample? .

i Write down a 99% confiddnée inte rral for the prevalence of HIV in
county ‘X'. (Note Z g95 = ?..57{::: _- J/

-




et N awIND. answer BULH questions in this scctibn]

. Inasurvey ona community Ilvm s around a factory suspected to be ceusing air pollution, the  *
number of hospital visits in the wreceding ycar for the youngest child under 5 years isrecordad

for a sample ofhr)uscholds as shcwn below
U (- CObED DATA NETH»

; 'HIIND. Lj2(3]4[s]6]7]8]o10 12 (14 |15]16[17 18] 19 :W‘
I | |0 8 ..,.- I S
] o. of visits atTl66|3|7[4[9]5[8 |7 138 N E 6 1417 3|
; -L__ ol I R AN I NIV | j | 3 vl /). J'

:[ .2 ¥ - Lk
|| 1K e (J_ldf‘ T‘ v
@h‘ e 47 70 Tu

| n) What is the median number of vis: ts'? B v,
tandard deviation (use the individual values) (= o QQ.@\ :

| h) Caleulate the mean, variance ani
L B
- M

¢) Calculate the staodard error of the mean

~ S ,
Construct a 95% confdencc inte rval for the mean number of hospital visits for the youngest child

i \“-—'Si less than § years in the pc popula‘nc n from \Klvch this random sample was drawn,
€] = H\ ST )

" l ,(19)‘—‘2.

3; Lgp5(20) = 2.845"

Note: lqg([g) 2.539; [995(19) 2 86“9
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j .y P AN
Mn a clinical trial involving 4,396 patients aged 65-74 whose systolic pressure wis Ll\..l-‘:"
. between 160 and 209 mmHg and whose Zissioiz nressure was less than 115 mmb g,
patients were randomly assigned to initial therapy with a diuretic or a beta-blocker or 2
matched placebo, and then followed up for an average of 5.8 years. The mair abjzciive

was to see if a palicy of anti-hypertensive treatment reduces the risk of stroke, caronary
heart disease and death. The main results are as follows:

A S

Active treatment v \/ .

Diuretic » | Beta-blocker - | Placebo ¥ o !

No. of patients | 1081 Z102 % 2213 s
Strokes | 45 58 o S
Coronary events | 48 80 55 |
Deaths | 134 | 167 | 315, — —

Using confidence intervals in both cases, is there significant evidence for there being-
differences in the risk of:

(a) Death between those taking diuretic anc those taking placebo? (10 marks)
(b) Stroxe between those taking beta-blocker and thoze taking placebc? {10 marks)



T T smALLLG Uu AT HUSWET PADEr

ANSWER FACH QUESTION ON A SEPARATE SHEET OF PAPER
L)
l/g-’-m;wiun I: SHORT ANSWER QUESTIONS (Questions 1 and 2 are compulsory)

FoAn o recent community diagnosis in greater Kiambu involving rand

ﬂmamml@_{]d%gmen

ol reprodisetive age, 530 were found to be cuzently using a family planning method. -3
T ==

a) What i I}]‘:_qup@_:‘_[_ip_]fof'WQIIIEII of reproductive age who were currently using a method?

b) Write cown a 99% confidence interval

WP

for the proportion women

of reproductive age who
urrsnly using a method in the population from which this s :

ample was dr; wn.

Note: the sampling variance of a proportion is

given by:
p(l-n)
. n oo - .5 _
V72 Deseribe the mechanism of Global warming : =
Section IT: SHORT ANSWER QUESTIONS (Answer anv Fioht 121 mncsr.  « - -/



'/* 1. The following are distances from the housenold to lhe nearest public health f:
recorded in a recent community diagnosis:

(NG, [1]2]314]51617(8]9 lm'u 12] 13[1l|]";'lh:
| Distance from facility I.ﬁ”j’l Y\ &€ '3,1 56 19 aj &
a) What is the median distance ' = \'\"’ i
- Lo "'_r f
I b) Calculate the mean, variance and standard deviation (use the individual values)
N c) Calculate the standard error of the mean ¢
t Q’ : N Senos T
g d) Construct a 99% confidence interval for the mean distance from houschold to hea
D facility in the population from “hlch this random sample was drawn.
\ ty pop P
ﬂ Note: fyps (15) =2 946.7
s~

1

[
=
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Given the following observations on systolic blood pressure in mmHg

Class limits | frequency B
80-100 | 205 |
100-110 326 -
110-120 458 |
*120-130 514 |
130-140 420 I
140-150 362 )
150-160 258 |

\alculate the median

L se the coded data method to calculate the arithmetic mean, varizance

& d standard deviation

G.






P Blida
’\"'—‘ p Lo fece Vanuble :?,l*“ & ﬂ’mﬂu {uf}mu_, Cz)

BB Nilteeoinssiniissniinminngrinnsaias » r

. Viaviable A Virduble U
vithum Valge 00 020
| :t:.ll|t|,q:L1l-- iy 1 5.1
Medion RN 152 il'“'“b
Mean Y, l\"-wh kh.hllmt‘
Flhaed quantile 1T, 5¢ 25.1
Nuaxunum value 4704 AT
\Viartnee fyR 14 = R .
G The middle Gty percent of the ordered values of vardable, A Sl betaan i L
vilues” lm.';n:-wrd“l ﬂgug = oo '1|||~4-[I{-.—-> }.Ir.li ﬁ}nm‘-ll \!’; . ?“ﬂ*'i"'ﬂm
Aa 4y = (o e A By — ASTIYE
(b)Y Which varinhle is Jett skewed” Give oo hi,:;-;-— W
.__a-—{"_‘_vn __I‘ VoR = wliues ot Loy e i - P
() Which o i inble A and BV is more variable? fl*?i .

Mt £ Wi Ex8il)

0 }mr\w ltdmiw.:hte mnﬁt’.



Fopamieltiz mudy to assess the nutritional status of schoel-going children in a rura)
PR anerage weight of children at 10-vears of age was found lo be 25.7 ke with a

- . - == 5 - = R e
LOSVIGRO C-:'_;‘_u:‘ ."\CCCp-l".-lﬂUSE'. \'GJTUC'J as pr;pn:’uuon paramv:er:'_;“and fhE‘.l ‘.\’Elgff]! 15

prooaniiity that a given 10-vear old child in the community will have a

2 =z dyy- = 2-237 = ‘_"_'_7. z 63217
d’ ﬂ.d'; ".':'3

43 10-year olds wil] Jie between 235 and —

2:21- 37 - ye - "
wy

ds in the torumunity need 1o 2ave o ke in the wn

~ aat i -
en By weight? ' K

i

lity that th a".i:i‘f[,z_;c weight of

[7 marks]
Zeeerr 0 1.96 = 0.025;
e 3l 1043 =005
Laesse OF 1645 = 5,05;
- e -y .




SCHOOL OF PUBLIC HEALTH
Level V T3 2018
BIOSTATISTICS
INSTRUCTION: IN-CLASS ASSIGNMENT. WORK IN PAIRS (8.8.2018 at11.30 a.m)

(To be discussed on Monday, August, 13, 2018)

1. Whatis Biostatistics? What are the Uses of Biostatistics?

2. With examples differentiate between Descriptive and Analytic Biostatistics.

3. Fillin the space provided with the appropriate scale of measurement and Type of
Variable for the following data.

Type of Scale of
Variable Measurement

Taking the height of an expectant mother
who presents at the ANC clinic.

Identifying the stage of disease for breast
cancer patient.

Recording the time of the day the patientis
discharged from hospital.

Recording the blood group of a subject
participating in a study.

Recording area of residence of a patient
presenting at a health facility.

4 Most of the biological data conform to the Normal distribution. What are the
characteristics of such distribution?



5. Given the standard normal distribution, find:
a. P(-287=<2<264)

b. P(Z<233)

c. P(Z= -233)

d. P(0.84<Z<245)

e. P(Z=2271)

6. The following are the ages (in years) of 9 men residing in one of the Home for the
elderly n a certain County.
63 64 64 70 72 76 77 81 81

For the above data, determine the following:

i. Median

ii. Mean

iii. Standard deviation



7. What types of graphs/diagrams can be used to display nominal or ordinal
observations? Discrete or continuous observations?

8. Among females in a certain County between 18 and 49 years of age, diastolic blood
pressure is normally distributed with mean p = 77 mm. Hg and standard deviation o
=11.6 mm. Hg. Whatis the probability that a randomly selected womnan in this
population will

have her diastolic blood pressure:

i. less than 60 mm. Hg.?

ii. greater than 90 mm. Hg.?

iii. between 60 and 90 mm. Hg.?



9. Displayed below is a frequency distribution of the resting systolic blood pressures
for a sample of 35 patients with ischematic heart disease.

Blood Pressure (mm Hg.) Number of
patients
115- 124 4
125-134 5
135-144 5
3
145 -154 7
155 - 164 5
165 - 174 4
175 - 184 5
Total 35
a. Construct the cumulative frequency distribution and a histogram for the above

data.

b. Whatis the probability that a randomly selected patients will have his/her
systolic blood

Pressure between 125 and 154 mm Hg.?




c. Determine the following for the above data:
i, Modal class.

ii. Median.

iii. Mean.

iv. Standard deviation.

Semi Interquartile range.




" l\'I)Hl.,I"-f-"I'Il..l'...lil|'.;|1'|..-r el s Lo . P
comy. TR (Yk T \ . LBt T w A KT
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(2 /) Inacommunitys r\.'eg,r @n wmn- n of reproductive age wiio were— - AFZ.
N =1 T -

currently using family clanning, househoelds were classified as rural,

; : , . -2
l ceri-urban or urban and the results summarized as follows 3.

o
Jidurie bu Al f

}‘hﬁcf\‘ Cﬂr“"# j—  —

Residence

L _ T

Rurai | Peri-urban Urban

P ~TvYes | 75 %C[ Y| I
uh. a4 ‘{”M'L} fllmwj urr ntry using [ Yes | f: & 7--|— —-80. &¥ | 3? "-’_ o e
- ﬂru pl"-nnmg | No ] 25 G 20 2o 1520 Ceo .
- Fl{] - P R PO \ TS o -I:_\)L"—_:
d__s_e}_. e "‘;:l:t,) SIEH-*B null hypothesis for the TSSUE Unde L_.ld]’_—' Jl’c"-t'. T
- & X a; bj Carry out the appropriate anaiysis ,
CoJuba 2 > "l'

c) State your conclusion, using a significance level of O, DS
4 Name the test you would use if in the analysis above th E“CDEC\E(a
) ) ”"J (j .ch 1“'[3‘1’
valuas were too small even after collapsing the table . J 14

— gt *fl
Note: - ( .
[ ——

. . X" 3(8) = 10.645 ¥ as(3) = 7815 LxC0s(2) = 991\ C,://E;'
2

__.-——-
M P

373(3) = - 5348 x'grs(2) =7.378

—
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TTTETIER et PR e RS LI DY e f-—-_ f-:
nonitoring of a health activity provides a means of improving sarvica. t
= ¥ i

/c—V Given the following observations on systalic blood pressure in mmHG \

e
( H Hr H "_ R -1 !
’ Class limits i Frequency | . N —
T e 3 — .-5:‘}-6_[} K . =8 Tne i._J..-:I-_- - - . =y n . e LA .‘__,-,. 5 -,I-I:._._ - > “L‘ — . .
& & 1 80-63 f 28 x ic\f)}f )
| A St
5-70 40 . § & s
B N 7
70-75 | S6 £y
J \
75-20 | 38 N
i ; )
i I . Jl 80-83 | 26 ) \-:,-..L :
L% B3R T T8 = e
Calcu'lats the mean anc mzgian ‘:;
T




b - {
P2 Answer the first three questions and ;my oth(r,' four qucsnrms in this section.

o ¥ )
} fj 2 /“"3"‘/ /; mily planning study where 3 20; women of reproductive ﬂVﬁ were interviewes,
L \ ~was found that 250 of them had eyer f T e at least one method of fan nily planning.
&y /'-#t i3 the proportion of worner: an had éver used 2t Jeast one method?
- b) Write ovwm a 95% confidence i, te-rvzsl for {he pruportion women who had ever
- used at Jeast one method in the ;mpui,,uon frojn which this saxaple vras drawn.

i

s £

I e ——

——— e —— e ——

e e g —— . S gl S g st



(A JISWRT JA11 3 1S e e nane s .,
-I

Yy Wcstcrgren et.al. (200])

1%y
\[w e table below presents the rcsull, ol'¢ f- stutl} conducted b
|_“10 defermine the association hetwe:n urr ount. of fond-eaten and wwhether ferdmg is
dependent-or independent. 2 g
ol g, Jr Depreri e, ., indeiimmﬁ-m;'_,;_1'otn'i_'_ RO
Eals < % | Yes 597 1. ""'g’:i. povvic e rentl ELEEELE RS
of served No 17 fo T e 7 , ;.
food ' C w o L -
Total 76 | . 77 153 e
i T -l" . . 3
Calculate:

i) The prohablhry ofdepcndcnt ﬁ.—t‘.dh'lg in t those who eat <% ofscrvcd food.
ii) The probability ofmdcprnddnt ['ctldjng in those who eat £ % of scrvcd food.

iii) The odds ration, a measure of a ,souauon {or the daia prcsentcd in 1 . ahove’
table. Interpret your calcuhted 0t .Ids 'ratio. '




'. E‘-)w"‘lot: 'E.c.?\ N : \-
. L

b EJq Section I: SHORT ANSWER QUESTIONS ™~ Midp
D
7\ e data below describes the distribution of plasma volumes for patlents

7_1_\'

e seen at a clinic in Nairobi

ot ’il)m__ . . . . : ! . . ";;{____ Sp,\/ﬁﬁa_ucp
n ,b_,;-,\:z 2.75,2.86,3.37, 2.76; 2.62, 3.49, 3.05, 3.12 —

Cv =

= 76y \/

;5 a) Calculate the mea%and standard dewatlo‘n/(SD) of the data jr’L‘Vﬂ. <_&_‘ &f:f*
3 . oo oMauce =

g

-«:._.(..r-_-‘-..w,:,g_l =



- Explain what you untlerstand by the following: '

\ .
wﬂ) Population w\ALoW?Y‘ o ol oo of e L W,

&) Sample :a ;Mjawc ?T'W'e’ pop - dvaem -to,.«wwt the. popP
)" Variable - wm ok VWAL fyor Y

o

10(‘,\,‘% 9‘( w-bv'tlf"o ;
.*
N aZ e 02 gponp clo-d:u d.us1w

day Measure of central tendency’; k{fu,wsb ¢ e wowy 1

orovrd o centval vlue M, Y . peon A
£) Measure of location .  Quispptitadn = —ofp vowrorn
Desirib es Whm an obsov«m&nfmmﬂom vow - ligs on The cole ot obs 5 . :a ‘.

Nacaribha fair indiantare Af ~mmmanibs nadicinatinn in hﬂn"‘} rare . 7A4+
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TREOTOEG - J
: ‘ERCISES IN BIOSTATIST[CS
s INTRODUCTION o BIOSTATISTICS -
_.‘.--‘r\{ (A) Deline “siatisrics” a5 g discipli

: NE.~<CRnee ay
(8) Define Biastarisrics and iy

| ‘ 1S uses in publie healih~Bple.” o) hatishon melhedss
) Give ditferen: types ot variables i, examples, - Gualitet,, -deereliglon .

FENL(vpes ol scales or

(E) What s the in

n .

: —Hpm,
: edie of types of data one cat!ct:'iﬁ'{i
are 1he two muin aregs of ! n

. : Rniy
1) PRESENTATION OF p&fir™

'ﬁtéa?(:rl ive

rolh“cél.bn'{na,qumnnh‘ -Jtﬂql |"|'1'e'rref-. ﬁl doww

i Medsurenient wily &h‘,“rl'ﬁflgs’f_utr.. - EILQ_ ht 2.0, araily ftﬁrﬂ.j

Wortance ol kg aL'D .__,...:ﬁz :H__IE SRen

Saristics/B ioumyisics T i Ol M _wm(,};ﬂ; Ana ey,

; HIRUSUCS? What isiiee gy 2 4

niyabibn < D \{ i & purpose(s) for dach
)

rl: "Iﬂfe;en‘l,'fal_.--ck'ﬂh-’ﬁcj I:\{Er&rwtnz
I. List the different forins of —

& Presenting dan for g fallowing rvpe of variables: 4
A Qualicnivd vara: B -JE_“ O

. g Tg-ﬁh.:..,?ﬁie...d‘ua.t .................................
y) Quuntitarive dara: ... Hi

; mrm...‘f.-'.’etcf,uen\cj...fnlﬁuq..%ﬁimﬂnrh

(in vears) ol 30 paitients seen

2. The lollowing ape (he age

Acerain health facilin during the veur Y,
e WS v -~

- o - " - - -
5% 215715 5 0 EERIN T T GF55% Bo X 1 J:I(L%;u:%; 2
. o-s-. f o 3c-35 28
. 9. Construce iy Frequency distriburion rable. G s ; EJ, _ 36 41 - [:L :;_K
i) A histogram. 2- 17~ X |p 43 —_1‘15‘73 =

1) Frequency pulvpon, 1g =A3- S 15 42 .

ag-29: 3 gp _—
. . n " NI ST sTucls .
3. The following gur |ir»:-.i¢:n|s the relipious arTilinion o 2 subjects ‘--unllud_ in : certair. 3 lll' S
CP LM P P CPC LM M M CPC P C B oA ;

- LT N S L % BT
- C S CP_M_N P pC C0 ML
'_.:_._:'"".'._.—,‘,—‘I..-L I..I\,I. t L i C_ : e ¢ - {6
Construer a: (a) Bar diagram (b) Pie char for the uivenl fj“_"" Bﬂ-— '36
Cunimert cn tie beligious alffilation of the enrnlled subjects. \lL

an -3
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1)

; . - .
THE NDRNI&L DISTRIBUTION 3 -
a1 Whes do we 0y that the data conform (o the "NEFmlglsTiliog " - %NWT*""&BT"““— T
- adbi Listilie properdes of the “Normal distributior.”. ﬁgmwtmu ngu u'hthl.n) l.-hv;a;lgg :@:‘ﬂ\ X'y

_.h_}[og/ LT 4
o bqp. Mjgjfu‘_‘jr

(ei What is the “Sidndard normal disrribution'” k”ﬁar is its importance
(@) Usc the sandard normal :ables (o decermine the following prouleIlHth

Y »
J

n Pz = 258) -. O‘lﬁj{ . [
b, PIZ-358) . e T Tb ":"T‘m' ‘{'ﬁ' oy
o Si20 > J"!-..' o -'-1 eq -

Hvs gt Pl- LEZo-2 v 0o for Lt e i
YO, Pretan S Ze- 01361

L
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"'a';_"_‘._"' B e v 'Y, Eu.UE MW’VWWM ' . : i
. Sec"o“]m jI‘fS‘NG ANg QUESTIONS (Answer ,BOTH qucstl{lﬂs in this SEC‘IOII)

> !. \.{ & Thc following are distances from the household to the ncan:st public health facility as

w rc-cordcd in a recent community diagnosis:

| .
'l; '}-i;fHHNo . [1]2]3]4 '|Sf"6' 789 10 11 [12]13[14]15] 16

]

i f_wtandefrom Tacility ]ﬁ’ Ril'g".igl QJ@ - ('/ @ 8)‘]:# G X: Q_J e

ed.f '-;?'
i ..._v;

Whal is Lhc mcdlan dlslanca
& ‘ 1 4 (2

8 44 _b]‘ palculate the mean, variance and slgndard deviation (uso.;, the individual values)

f) Calculate the standard error of'thcs o s pgm - ,c.d/ -
q

i Construct a 99% confidence interval for the mean distance from household to health
. ' ﬁiclhty in the population from whmh this random sampl¢ was drawn.

. T 4 t.a X GBMN -

o Note: ({,3,(1’5),-=2.§[467 167

L R iy e L e
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FPATIENT HEALING TIME 1Al .
Normal Prolonged s [\rQ_b BMJ;\ OV
Diabetic S B - 1on’
21 . . . Toan
Nop-clinpetic - — —H- """"""—?‘(T- B —p\\;' Fo Vd-ﬂ
Toal 346 (407 7 L 4 Orlv
o Andedhsad
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e e i e T g
n snicle on the relationship betwezn disbeies nod prolonged healing of wounds 1-‘“ dod
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(c) What can you say about the performance of this test for breast cancer?

vt e

2. Ina community survey on infant immunization in KizmbBu County, the following
data are obtained - e
N CCL - J \43 Fl ar's ‘“; ucation LC ve!
Y [

i < A\ g kﬁ‘s | Brimary | Secondary | Tertiary |
S L 6/ MFully i e P
S £ iy Y 16, |

3 /, [mmunization | Immunized | : { ]
Py Status | Not | tfully I ‘20 s ]2 L
{t Immurnizad | cint, | Caamie |
(a) State a null hypothesis for tht: prob]an L.n-d"r inves uga'”‘
(b) Carry out the appropriate anal}'sis. - .
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* |In a survey carried out at border towns, migrant
workers were asked to state their most important
health problem with the following results:

a) Calculate the relative frequencies

b) Use an appropriate method of presentation for
these data

|| Health!Problem m

E Malaria
I STI/HIV/ AIDS
EI Gastro-intestinal

3 Mental
E Malnutrition
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* In a study of the television viewing habits of young people, a
developmental psychologist selected a random sample of 300 first
year university students- 100 boys and 200 girls. Each student was
asked which of the following tv programs they like best: Sports,
Movies, or Comedies.

1. State the 'null’ and ‘alternative’ hypotheses

2. Do the boys’ preferences for those tv programs differ significantly from
the girls preference? Use 0.05 level of significance.

Viewing preferences

[C TS spons [ Movies |- Gomedies | Total |
T 50 30 20

100
[ Gise | 50 80 70 200
100 110 90 300
LMAGAKD ™ PEOK
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* State the ‘null’ and ‘alternative’ hypotheses

* Do the boys’ preferences for those tv programs
differ significantly from the girls preference? Use
0.05 level of significance.

LHARAKD = PEVEON
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* Explain the following terminologies as applies to
Biostatistics giving one example of each to
illustrate your definition.

a) Observation
b) Variable

) Binary variable

) Quantitative variable

) Frequency

M O O

L VSN

28//32 ~

NOTES A

1l O <




11:15 Gd © 2.l 82%MN

— 01. EPIDEMIOLOGY AND BIOSTATIS... [&] < ¢

CUARAHD ™ SN

L VSN

NOTES A

1l O <




11:15 Gd 2 . 82%N

01. EPIDEMIOLOGY. AND BIOSTATIS... [E]] «

6. A community diagnosis in Kiambu involving 2 cluster random sample of 500
households found 450 of the households had VIP latrines o toilets.

= - 2. “What it proporiion of househalds with no or poor qualitytoilet
facilities?
" b. Write down a 95% confidence interval for the proportion of households
with no toilet facilities in this population :- o AT SEIAL,
LHAGARD ™ PEVEON
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I In/a family planning study where 320 women of reproductive age were interviewed, it
as found that 250 of them had ever used at least one method of family planning.

Sols a) What i the proportion of women who had ever used at least one method?
b) Write down a 95% confidence interval for the proportion women who had ever
used at least one method in the population from which this sample was drawn.
PEVEOK
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* List three properties of a population which
follows the normal distribution
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